Vectors and Forces Name KEY
Honors Physics 2013/14

Newton' Third Law Problems

1. When applying Newton’s 3" law, why don't action and reaction forces always cancel
out? The ackion ‘Zeqc¥0m Pares ac—\- 0 0/\[
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2. Acaris hit by a train with a force of 10,000 N, what force does the train experience?
lo, 000 N
a. If the car's mass is 1000 kg and the trains mass is 100,000 kg what acceleration, if
any does eig:\er experience? [
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3. Itis the year 2050 and baseball is played on outer space: A 50 kg pitcher can throw a
1.0 kg ball, toward home plate at a velocity of 50 m/s. It takes the pltcher 1 second to
accelerate the ball from rest to 50 m/s. . Jy
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a. What is the acceleration of the ball while it is being thrown? V§ = S*
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b. What is the force on the ball while it is being thrown?
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c. What is the force on the pitcher while the ball is being thrown?
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d. What is the acceleration of the pitcher while the ball is being thrown?
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e. What are the velocities of the ball and pitcher after 10 seconds? ‘0 . ]‘_C le
Y. \,_( Nrat = (\\(ﬂ 1mls :
Vp =0 S
¢L —-x Rall = SO mls
a =\
t =1

Page 20 of 21


paul.strzyinski
Pencil

paul.strzyinski
Pencil




